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import java.util.Scanner;
public class Al {
static Scanner keyboard = new Scanner(System.in);
public static void main(String args[]) {
System.out.print("Input n:");
int n=keyboard.nextInt();
while (n 1=999) {
System.out.printf("%d F# 3 (£ )=%d\n", n,facl(n,1));
System.out.printf("%d F# 3k (:x B])=%d\n", n,fac2(n));
System.out.print("Input n:"); n=keyboard.nextInt();
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static int facl(intn, ints) {
| |
b
static int fac2(int n) {
| |
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- <<PK>> CustomerNo | customer

- order
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{complete} {complete} - item 1
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s - StartDate - <<PK>> ItemNo
- VIPLevel - EndMonth - Price
- MonthFee - Name
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ATMESE nvarchar(4)
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RZHHE datetime
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